Soustraction (J)

Calculez la différence.

89 2001 1902 4318 4138 878
-9 —-163 — %6 —_ 8 —_ 9 —_ 6
2189 944 428 6423 2092 4054
- 2 — 48 - 8 —632 — 634 —_ 67
o813 970 595 727 3501 8574
— 13 — 813 — 396 —_57 —_34 — 647
308 756 5740 3748 9244 45

- 2 —_62 —9592 — 8 —-7388 —__ 8
23 4361 7669 A7 7589 3269

— 5 =243 — 7 — 490 —_40 —1932
48 8306 82 2430 1778 5525
-5 — 28 — 1 —_ 48 —_ 280 —_ 9
409 698 b64 4575 827 8187

— 5 - 5 —_ 8¢ — 710 —_ 87 —6011
759 3396 185 4949 743 527

— 165 —_ 7™ —_ 2 —4540 —_557 —_ 38
6271 7729 8453 71 327 676
— 244 —_ 33 2735 —_21 —_ 53 —_127
7481 198 79 24 5758 9
- 79 -6 — 12 — 5 — 7 —_ 9

9793 5734 4 2687
- 929 — 8 —_ 3 —_132
6674 4798 8686 630
— 502 —_ 702 — 828 —_ 33
8604 945 8683 4862
— 407 —_ 452 —_ 72 —_ 74
66 68 655 792

— 40 - 2 =243 —_ 6
7453 3 255 39
- 4 - 3 — 8 —_ 3
929 787 9 97

- 6 —-302 — 1 —_90
bA4r 1874 9123 90

- 9 - 6 —_ 26 —__ 6
4400 7286 6407 33
- 3 —6193 — 31 —_ 5
98 552 § 505

- 6 — 80 — 4 —_ 177
7715 6T 5 2442
- 22 - 5 —_ 5 —_ 9
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